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—MeEHE — B 43 41 11 5 2 21.5
— eI (BREEE) 3 3 0 0 0 -
R6 RBH M 18 18 8 4 2 9.0
= f2 &m 4 4 2 2 2 2.0
SEBEHSE Coxmm : woa 5 5 4 3 2 2.5
—BEH (SHEEE) 1- 1 0 0 0 -
—MeEHE — B 52 50 14 6 3 17.3
— eI (BREEE) 4 4 3 2 1 4.0
R5 ® B8 L 16 15 10 4 2 8.0
= f2 &m 6 6 3 2 1 6.0
SEBBHSE Coxamm : woe 9 8 5 4 3 3.0
—REBH (SHEES) 1 - 1 0 0 0 -
—MeEHE — B 63 61 15 5 3 21.0
—NeEIE (B 4 4 3 2 1 4.0
R4 ® B8 L 10 10 5 3 2 5.0
T ARELAMHE 3 3 3 2 1 3.0
SEBOE coxms  momm 11 8 4 2 2 5.5
—BEHR (SHEEE) 1- 1 0 0 0 -
—MeEHE — B 110 107 15 6 4 27.5
—NeEIA (BREEE) 8 6 4 2 1 8.0
R3 ® B8 L 14 13 9 4 2 7.0
= f2 &m 6 5 3 2 1 6.0
SEBOES coxms  momm 4 3 2 2 2 2.0
—REBH (SHEES) 1 - 1 0 0 0
—MeEHE — B 99 98 12 5 2 49.5
— eI (BREEE) 5 5 4 3 1 5.0
R2 ® B8 L 19 19 10 4 2 9.5
= f2 &m 4 4 4 2 1 4.0
SEBOES coxms  momm 10 10 7 4 2 5.0
—REBH (SHEES) 3 - 2 1 1 1 3.0
—MeEHE — B 145 145 25 8 4 36.3
— eI (B 6 6 5 3 1 6.0
H31 ® B8 L 24 24 12 5 3 8.0
= f2 &m 4 4 3 2 1 4.0
SEBOEE coxms  momm 49 47 23 12 4 12.3
—RERE (SREES) 1 - 1 1 0 0 0.0
—MeEHE — B 158 158 21 7 3 52.7
—NeEIA (BREEE) 7 7 4 3 1 7.0
® B8 L 33 33 13 5 4 8.3
H30 = f2 &m 5 5 4 3 0 0.0
—HSBEH (BHRESE) 0 0 0 0 0 0.0
SEBOES coxms  momm 12 12 4 3 3 4.0
SEDE mze 14 12 5 2 1 14.0




